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«
XA YA XB YB

∑
MC = 0

∑
MB = 0¬l ¬

−10 13 22 30 3XA + 4YA − 22 = 0
j

8XA + 7YA − 11 = 0¬lk
−6 −6 10 57 4XA + 4YA + 48 = 0

j
XA + 5YA + 24 = 0¬lo

−8 0 12 25 −8XA + 4YA − 64 = 0
j

−4XA + 6YA − 32 = 0¬lp
20 −1 −32 40 5XA − 4YA − 104 = 0

j
2XA − 12YA − 52 = 0¬lt

−1 5 −7 43 4XA − 4YA + 24 = 0
j

9XA − 3YA + 24 = 0¬l­
22 −2 −30 21 4XA − 4YA − 96 = 0

j
XA − 13YA − 48 = 0¬l®

−7 9 19 32 3XA + 5YA − 24 = 0
j

6XA + 6YA − 12 = 0¬lm
−20 14 28 6 4XA + 4YA + 24 = 0

j
9XA + 12YA + 12 = 0¬l¯

−24 0 28 93 8XA + 4YA + 192 = 0
j

4XA + 14YA + 96 = 0¬¬l
−24 11 36 6 3XA + 4YA + 28 = 0

j
7XA + 14YA + 14 = 0¬¬¬

0 −4 8 58 8XA + 4YA + 16 = 0
j

4XA + 4YA + 16 = 0¬¬k
0 3 −8 39 4XA − 4YA + 12 = 0

j
7XA − 4YA + 12 = 0¬¬o

0 4 4 83 −5XA + 5YA − 20 = 0
j

XA + 5YA − 20 = 0¬¬p
−21 6 29 42 −4XA + 3YA − 102 = 0

j
XA + 12YA − 51 = 0¬¬t

22 −5 −26 26 3XA − 4YA − 86 = 0
j

XA − 13YA − 43 = 0¬¬­
−21 −14 25 37 −4XA + 3YA − 42 = 0

j
−9XA + 12YA − 21 = 0¬¬®

−8 −5 20 21 3XA + 4YA + 44 = 0
j

XA + 6YA + 22 = 0¬¬m
6 12 −18 5 4XA − 4YA + 24 = 0

j
8XA − 5YA + 12 = 0¬¬¯

6 −10 −18 55 −4XA − 4YA − 16 = 0
j

−7XA − 5YA − 8 = 0¬kl
23 9 −27 40 3XA − 5YA − 24 = 0

j
6XA − 14YA − 12 = 0¬k ¬

25 0 −29 65 −10XA − 3YA + 250 = 0
j

−5XA − 14YA + 125 = 0¬kk
−23 −5 31 53 3XA + 5YA + 94 = 0

j
XA + 14YA + 47 = 0¬ko

−23 2 35 67 −4XA + 5YA − 102 = 0
j

XA + 14YA − 51 = 0¬kp
−26 11 30 40 3XA + 4YA + 34 = 0

j
7XA + 15YA + 17 = 0¬kt

9 0 −13 67 10XA − 5YA − 90 = 0
j

5XA − 7YA − 45 = 0¬k­
0 4 8 52 −8XA + 5YA − 20 = 0

j
−4XA + 5YA − 20 = 0¬k®

−8 −4 16 48 5XA + 4YA + 56 = 0
j

XA + 12YA + 56 = 0¬km
9 0 −21 53 −10XA − 3YA + 90 = 0

j
−5XA − 6YA + 45 = 0¬k¯

−8 3 16 37 −4XA + 3YA − 41 = 0
j

XA + 11YA − 41 = 0¬ol
19 11 −27 31 3XA − 3YA − 24 = 0

j
7XA − 11YA − 12 = 0¬o ¬

1 3 −13 72 5XA − 5YA + 10 = 0
j

8XA − 6YA + 10 = 0¬ok
−8 3 16 60 4XA + 3YA + 23 = 0

j
7XA + 11YA + 23 = 0¬oo

0 5 −8 43 4XA − 4YA + 20 = 0
j

9XA − 4YA + 20 = 0¬op
8 −7 −20 25 3XA − 4YA − 52 = 0

j
−2XA − 6YA − 26 = 0¬ot

0 −4 −4 49 −5XA − 3YA − 12 = 0
j

−9XA − 3YA − 12 = 0¬o­
23 −2 −35 43 4XA − 3YA − 98 = 0

j
XA − 13YA − 49 = 0¬o®

−1 −5 5 54 −4XA + 3YA + 11 = 0
j

−9XA + 4YA + 11 = 0°±²³ ´bµ` o­¶ ¬ll·¸


